

次の計算をなさい。

$$(1) (45 - 22) \times 11 - 30 = 223$$

$$(2) 45 - (20 - 3 \times 6) \times 4 = 37$$

$$(3) 40 \times (3 + 5 - 2 \times 2) = 160$$

$$(4) 21 \times (6 + 3 \div 3 \times 3) - 100 = 89$$

$$(5) 53 + (6 \times 3 - 2) - 4 \times (3 + 2) = 49$$

$$(6) 20 - (3 \times 4 - 2) \times 2 \div 5 + 5 = 21$$

$$(7) (5 \times 3 - 10) \times 3 \div (2 + 1) = 5$$

$$(8) 60 \times (3 + 4 \times 2 - 2 \times 3) \div 20 = 15$$

$$(9) 32 \div (22 - 3 \times 2) \times 40 - (3 \times 6 - 2 \times 3) = 68$$

$$(10) 50 \times (40 - 3 \times 5 - 5) \div (4 \times 3 \div 2 + 4) = 100$$